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| Break Down Volatage = 70.59 |

Gain vs. voltage: MPPC number 90
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| Break Down Volatage = 70.52 |
C -~

100

20

80

70

60

50

40

100

90

80

- e

Z /,,

C /Jl/.r

L R P R

71.2 71.4 71.6 71.8 72 72.2

| Break Down Volatage = 70.61 |
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| Break Down Volatage = 70.53 |
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| Break Down Volatage = 70.56 |
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MPPC number 90

Gain(compxE5)




MPPC number 56

Gain(compxE5)




MPPC number 62

Gain(compxE5)




MPPC number 65

Gain(compxE5)




MPPC number 66

Gain(compxE5)
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MPPC number 68

Gain(compxE5)
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MPPC number 71

Gain(compxE5)




MPPC number 88

Gain(compxE5)




MPPC number 89

Gain(compxE5)
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